.

Installation Instructions ~~ “Anorew

Downtilt Mounting Kit Page 1 of 3
DB5098-WM

Andrew Institute offers installation training.

GENERAL INFORMATION

The DB5098-WM downtilt kit includes two angle indicator labels for use in setting the downtilt angle. This downtilt kit is designed to be
used with the DB390 (014748-001) standard galvanized pipe mount kit. Required 3/8” hardware is provided with the DB5098-WM and
DB390 mounting Kits.

Fits round members 2.4” to 4.5” (60-115 mm) O.D. or angle members up to 2.5” (63.5 mm) on a side.

3/8-16 X 1-1/4" Hex HD
Galvanized Steel Bolt
3/8-16 Hex HD Nut,
- Galvanized Steel
\\\ 3/8" Split Lock Washer,
8 Galvanized Steel
©)
3/8-16 X 1-1/4" Hex HD - N
Galvanized Steel Bolt S %
~.
DB5098-WM Downtilt Bracket 9
DB390 pipe bracket is inserted ) )
between the DB5098-WM bracket
and the 3/8" split lock washer.
3/8" Split Lock Washer,
Galvanized Steel
3/8-16 Hex HD Nut,—
Galvanized Steel I
3/8-16 X 1-1/4" Hex HD
3/ g‘ |6 Hex HstTUTi Galvanized Steel Bolt
alvanize ee Outer Bracket Link
3/8” Sp“T Lock Wosher, Tooth Lock Washer
Galvanized Steel Inner Bracket Link

Figure 1. DB5098-WM Downtilt Bracket Assembly.
(continued on page 2)

NOTICE

The installation, maintenance, or removal of an antenna
requires qualified, experienced personnel. Andrew
installation instructions are written for such installation
personnel. Antenna systems should be inspected once

. . . . Do not install near power lines. Do not install on a wet or Wear shoes with rubber soles
a year by qualified personnel to verify proper installation, Power lines, telephone lines, windy day or when and heels. Wear protective
maintenance. and condition of equipment. and guy wires look the same. lightning or thunder is clothing including a
’ Assume any wire or line can in the area. Do not use long-sleeved shirt and rubber
electrocute you. metal ladder. gloves.

Andrew disclaims any liability or responsibility for the results
of improper or unsafe installation practices.

Installation Training Available at Andrew Institute




DB5098-WM Downtilt Mounting Kit Andrew Wireless Solutions
Bulletin 639525 « Revision C ¢ October 2008 « Page 2 of 3

(Continued from page 1)

Attach DB5098-WM bracket
assembly to top antenna bracket.

Important Note: > 3/8-] 6 X 7" Hex HD

Insert 77 Hex HD bolts into .
DB390 bracket with tabs Galvanized Steel Bolt

before attaching DB390
bracket to DB5098-WM DB390 Bracket

bracket. With Tabs

-

ASSEMBLY INSTRUCTIONS
1. Assemble the DB5098-WM downtilt bracket as shown

in Figure 1.
) 2. Attach the assembled DB5098-WM downtilt bracket
3/8-16 qu HD Nut, ®/ to the top antenna bracket using the hardware pro-
Galvanized Steel vided.
" . 3. Attach a DB390 pipe bracket to the DB5098-WM
3/8 Sp“T LOCIF Wosher, downtilt bracket, inserting the 7” Hex HD bolt before
Galvanized Steel attaching.
) 4. Attach the remaining DB390 pipe bracket to the bot-
DB390 Bracket Without Talbs tom antenna bracket, inserting the 7" Hex HD bolt

before attaching.

5. Ensure that hardware is snug, but do not tighten at
this time.

Figure 2. Attaching DB5098-WM Downtilt Mount to the Pipe and the Antenna.

See instructions on

HOISTING ANTENNA UP A TOWER Downtil = “Hoisting Antenna
« Pre-assemble as much of the mounting hardware as Bracket Up A Tower.”
possible before lifting the antenna up to the top of the is fully
tower. collapsed.
» Attach a rope to the top mounting bracket on the back of
the antenna. Keep the antenna vertical when hoisting the An - >
inclinometer

antenna. For safety, an additional rope can be attached

. ther devi
to the bottom antenna mounting bracket and used as a o1 oTher device

which measures

ﬂ

guide by someone else on the ground. angles relative
* Bring the antenna into position on the tower and secure to vertical may ) )
it using the hardware provided. be used to Draw an imaginary
achieve vertical line through
To avoid twisting the antenna, ensure that all the mounting precise the center of the heads
clamps are aligned with each other. Securely tighten all measurement. = = of the bolts to ensure

t

antenna is a 0° when
first installed.

hardware.

Mast ————

L

Figure 3. Ensure Antenna is Fully Collapsed at 0° When Attaching the Antenna to the Tower.



Andrew Wireless Solutions DB5098-WM Downtilt Mounting Kit
Bulletin 639525 « Revision C ¢ October 2008 « Page 3 of 3

Align edge of
DB5098—WM bracket

with angle indicator line.
Angle

Indicator
Line ADJUSTING THE DOWNTILT ANGLE

1. Loosen the 1-1/4" bolts at the pivot points on the DB5098-WM
downtilt bracket (Figure 1).

2. While observing the angles shown on the label, align the edge
of the bracket arm as closely as possible to the line representing
the desired angle position.

3. After the bracket has been adjusted to the desired downtilt
angle, carefully tighten all hardware to secure the new angle
position and the antenna mount. Use caution to not overtighten
the bolts.

TORQUE
3/8-16: 27 N-m (235 in-Ibs)

Figure 4. Adjusting the Downtilt Angle.

Andrew Wireless Solutions WWWw.commscope.com

Customer Service 24 hours Visit our Web site at www.commscope.com or contact your local Andrew Wireless Solutions representative for more information.

e 1. R . © 2008 CommScope, Inc. All rights reserved.
U'S'A" Canada, Mexico: 1-800-255-1479 Andrew Wireless Solutions is a trademark of CommScope. All trademarks identified by ® or ™ are registered trademarks or
U.K.: 0800 250055 trademarks, respectively, of CommScope. This document is for planning purposes only and is not intended to modify or supple-
Other Europe:+44 592 782 612 ment any specifications or warranties relating to Andrew Wireless Solutions products or services.
639525



